Construction division. Advice for giving credit to contractors/suppliers.

	o. – site bills	5	9		Date	- site bil	lls	210.	1/0201
regis					Regis	ster		010.	7 202
	pany Name:	Adi	's Denlo	pers 6	Site:			MG1	7
Nam	e of Contractor	k.	Souvan						
Natu	re of work	Dus	I shi		a	ud of	loori	'nOI-	
Worl	k done	From	Date		05-0	21 To	foori Date	19.	7-21
Sl.	Villa/Flat/block no). (Qty.	Rate		Units	Amou	int	Contractors
No.	A						1		bill no
1.	floor chipping		24000	2.	00	stt	480	100° a	
2.	(101 to 506)			· ·		* * *7		×-	
3.	Dust Shiffin	9							
4.	(101 to 106)		4800	2.		Sft	96	00.00	
5.	(20 to 206)		4800	2.1	6	SIE	103	68. W	
6.	(301 to 206)		00gy	3.3	2_	SFE	1113	6.00	
7.	(401 to 406	-	4800	Q.1	18	Sft	1190	14.00	
8.	(501 to 506		4800	8.6	54	stt	126:	72.00	
9.									
10.							1		,
11.		otal:				2.4	1036	280·g	
	required	YE	S 🗆 NO.		GST	bill requi	red	□YES	□ NO.
1	surement &	1	quired			urement		Enclo	sed
	nate sheet:	□No	t required			ate sheet:		□ Not e	nclosed
PO/	WO no.		9		PO/V	VO date:			
Rem	arks :					e e		-	
	7								
	2						0		
				- 7	1147				
Appı	roved by Project Ma	anager	Appro	oved b	y Desi	gn Team	Apn	roved by	M.D.
Date	21/1/2/		Date:				Date		
Sign			Sign:				Sign		
Notes	1001		5.5	1 4	1 0	mi i e	Jigi.	4.	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Bill for Labour Charges

K Sravan kumar Plot no 2-3-73-124/110,VR Colony, Chinna cherlapally ,Hyderabad -501301

Date: 19.7.2021

In favor of:

Aedis Develpers

Project / Site:

MGA

Location:

Turkapally

Type of Work:

Dust shifting for flooring.

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards Dust shifting for flooring flats and corridor work done. Total Amount = 103680/- Work done from date 30.05.21 to 19.7.2021	Rs. 41472/-

Amount in words: Forty one thousand four hundred and seventy two rupees only.

Sign:	

Bill for Equipment Allowance

K Sravan kumar Plot no 2-3-73-124/110,VR Colony, Chinna cherlapally ,Hyderabad -501301

Date: 19.07.21

In favor of:

Aedis Develpers

Project / Site:

MGA

Location:

Turkapally

Type of Work:

Dust shifting for flooring.

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Towards Dust shifting	
	for flooring flats and corridor work done.	Rs.41472/-
	Total Amount = 103680/-	
	Work done from date 30.05.21 to 19.7.2021	

Amount in words: Forty one thousand four hundred and seventy two rupees only.

Sign:			
51g11	 	 	

Allowance for Consumables

K Sravan kumar Plot no 2-3-73-124/110,VR Colony, Chinna cherlapally ,Hyderabad -501301

Date 19.07.2021

In favor of:

Aedis Developers

Project / Site:

MGA

Location:

Turkapally

Type of Work:

Dust shifting for flooring

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Towards Dust shifting	
	for flooring flats and corridor work done.	Rs. 20736 /-
	Total Amount = 103680/-	
	Work done from date 30.05.21 to 19.7.2021	

Amount in words: Twenty thousand seven hundred and thirty six rupees only.

MEASUR	MITAUCKEMEN SHIFT # 1								
Company Name	y Name:	AEDIS DEVELOPERS				Approved by:	by:		
Project:		MGA				Sign:			
Work De	Work Description:	Dust shifting for flooring							
Prepared By	Ву	T.Madhu							
Contract	Contractor Name:	K Sravan Kumar							
Date:		20-07-2021							
			A	В	C	D	E=AxBxCxD	П	G=Sum of E
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
_	.,101,102,103,104,105,106	Floor chipping for Vitrified tiles	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
2	.,201,202,203,204,205,206	Floor chipping for Vitrified tiles	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
ω	.,301,302,303,304,305,306	Floor chipping for Vitrified tiles	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
4	.,401,402,403,404,405,406,	Floor chipping for Vitrified tiles	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
5	.,501,502,503,504,505,506	Floor chipping for Vitrified tiles	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
									24000.00
_	.,101,102,103,104,105,106	.,101,102,103,104,105,106 Dust shifting for flooring 1st floor	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
2	.,201,202,203,204,205,206	Dust shifting for flooring 2st floor	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
ω	.,301,302,303,304,305,306	Dust shifting for flooring 3st floor	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
4	.,401,402,403,404,405,406,	Dust shifting for flooring 4st floor	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	
5	.,501,502,503,504,505,506	.,501,502,503,504,505,506 Dust shifting for flooring 5st floor	800.00	1.00	1.00	6.00	4800.00 Sft	Sft	

	E F			rupees only.	Amount in words:- One lakh three thousand six hundred and eighty rupees only.	Amount in words:- One lakh	1
103680.00						Grand total:-	0
55680.00							
	12672.00	2.64	Sft	4800.00	Dust shifting for flooring 5st floor	.,501,502,503,504,505,506	5
	11904.00	2.48	Sft	4800.00	Dust shifting for flooring 4st floor	.,401,402,403,404,405,406,	4
	11136.00	2.32	Sft	4800.00	Dust shifting for flooring 3st floor	.,301,302,303,304,305,306	ω
	10368.00	2.16	Sft	4800.00	Dust shifting for flooring 2st floor	.,201,202,203,204,205,206	2
	9600.00	2.00	Sft	4800.00	Dust shifting for flooring 1st floor	.,101,102,103,104,105,106	_
48000.00							
	9600.00	2.00	Sft	4800.00	Floor chipping for Vitrified tiles	.,501,502,503,504,505,506	5
	9600.00	2.00	Sft	4800.00	Floor chipping for Vitrified tiles	.,401,402,403,404,405,406,	4
	9600.00	2.00	Sft	4800.00	Floor chipping for Vitrified tiles	.,301,302,303,304,305,306	ω
	9600.00	2.00	Sft	4800.00	Floor chipping for Vitrified tiles	.,201,202,203,204,205,206	2
	9600.00	2.00	Sft	4800.00	Floor chipping for Vitrified tiles	.,101,102,103,104,105,106	_
Item Head Total	Amount	Rate	Units	Quantity	Item Description	Item Head	S No.
					20-07-2021		Date:
					K Sravan Kumar	Contractor Name:	Contract
					T.Madhu	d By	Prepared By
					Dust shifting for flooring	Work Description:	Work De
		Sign:			MGA		Project:
	Y:	Approved by:			AEDIS DEVELOPERS	y Name:	Company Name:
						ESTIMATE SHEET	ESTIMA: